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Problem 1 (15 Points)

The company Z − Car produces a unique model of spare parts for heavy duty
transportation vehicles. The manager of the company is asking you to find the
optimal solution to its transportation problem. The company has 4 plants supplying
5 customer zones. The following table 1 displays the unit transportation costs, the
supplies and the demands.

Demand Nodes → 1 2 3 4 5
Supply Nodes ↓ Costs Offer

1 5 4 6 4 7 1000
2 4 3 5 8 5 1200
3 4 7 6 5 2 800
4 3 5 2 6 4 1100
5 5 1 3 4 9 900

Demand 1200 400 1000 1300 1100

Table 1: Data for problem 1

1Dr. Slim Belhaiza (c)
2This is NOT a team assignment.
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Problem 2 (15 pts)

Consider the following linear program:

max
x1,x2

5x1 + 4x2

s.t. 4x1 + x2 ≤ 3,
x1 + 3x2 ≤ 4,
x1, x2 ≥ 0.

Solve the linear program using the Revised Simplex algorithm.
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Problem 3 (20 pts)

Consider the following linear program:

min
x1,x2,x3

3x1 + 2x2 + 4x3

s.t. x1 + x2 + 2x3 ≤ 3,
x1 − x2 + x3 ≥ 3,
2x1 + x2 + x3 ≤ 5,
x1, x2, x3 ≥ 0.

Solve the linear program using the Dual Simplex algorithm.
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